

STRONG CONVERGENCE THEOREMS FOR INFINITE COUNTABLE NONEXPANSIVE MAPPINGS AND IMAGE RECOVERY PROBLEM

YONGHONG YAO AND YEONG-CHENG LIOU*

ABSTRACT. In this paper, we introduce an iterative scheme given by infinite nonexpansive mappings in Banach spaces. We prove strong convergence theorems which are connected with the problem of image recovery. Our results enrich and complement the recent many results.

1. Introduction

Let C be a nonempty closed convex subset of a Banach space E and let T_1, T_2, \dots, T_N be nonexpansive mappings from C into itself (recall that a mapping $T : C \rightarrow C$ is nonexpansive if $\|Tx - Ty\| \leq \|x - y\|$ for all $x, y \in C$).

It is well known that the so-called problem of image recovery is essentially to find a common element of nonexpansive retracts C_1, C_2, \dots, C_N of C with $\bigcap_{i=1}^N C_i \neq \emptyset$. It is easy to see that every nonexpansive retraction P_i of C onto C_i is a nonexpansive mapping of C into itself. There is no doubt that the problem of image recovery is equivalent to finding a common fixed point of nonexpansive mappings P_1, P_2, \dots, P_N of C into itself. Now we recall some significant results in the literature concerning the problem of image recovery as follows.

In 1993, Kitahara and Takahashi [4] considered and studied the problem of image recovery by convex combinations of nonexpansive retractions in a uniformly convex Banach space E ; see also [12]. Moreover, they proved that an operator given by a convex combination of nonexpansive retractions in E is asymptotically regular and the set of fixed points of the operator is equal to the intersection of the ranges of nonexpansive retractions. Furthermore, using the results they proved some weak convergence theorems which are connected with the problem of image recovery. In 1997, Takahashi and Tamura [15] also considered the feasibility problem in the situation where the constraints are inconsistent. In 2000, Takahashi and Shimoji [14] introduced an iteration scheme,

Received January 20, 2007.

2000 *Mathematics Subject Classification.* 47H09, 47H10, 47H17.

Key words and phrases. nonexpansive mapping, strong convergence, uniformly Gâteaux differentiable norm, fixed point.

*The research was partially supposed by the grant NSC 96-2221-E-230-003.

given by finitely many nonexpansive mappings, which generalizes Das and Debata's scheme [3], and then they proved weak convergence theorems which are connected with the problem of image recovery in a Banach space. We remark that the problem of finding a common fixed point of nonexpansive mappings of C into itself includes the problem of image recovery as a special case. Therefore, there is no doubt that it is very interesting and quite significant to establish the strong convergence or weak convergence results on the iteration schemes for finding a common fixed point of nonexpansive mappings T_1, T_2, \dots, T_N of C into itself.

Recently, constructing iterative schemes for finite or infinitely many nonexpansive mappings T_1, T_2, \dots in the settings of Hilbert spaces or some special Banach spaces have been considered by many authors. Especially, the convergence problem of the following iterative scheme

$$x_{n+1} = \lambda_{n+1}u + (1 - \lambda_{n+1})T_{n+1}x_n, \quad \forall n \geq 0$$

has been studied extensively. See, for example [2, 6, 7, 9, 10] and the references therein. But we note that the authors have imposed some additional assumptions on parameters or mappings $\{T_n\}$.

The purpose of this paper is to propose a new iterative scheme for finding common fixed points of an infinite countable nonexpansive mappings $\{T_i\}_{i=1}^\infty$. Under very mild conditions on the parameters, it is proved that the sequence generated by our iterative scheme converges strongly to a common fixed point of $\{T_i\}_{i=1}^\infty$. Our results enrich and complement the recent many results.

2. Preliminaries

Throughout this paper, we assume that E is a reflexive Banach space, C is a nonempty closed convex subset of E . E^* is the dual space of E and $J : E \rightarrow 2^{E^*}$ is the normalized duality mapping defined by

$$J(x) = \{f \in E^* : \langle x, f \rangle = \|x\|\|f\|, \|x\| = \|f\|\}, \quad x \in E,$$

where $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing. In the sequel, we shall denote the single-valued normalized duality mapping J by j and denote the fixed points set of a mapping T by $F(T)$.

Let $S = \{x \in E : \|x\| = 1\}$ denote the unit sphere of E . Recall that E is said to have a Gâteaux differentiable norm if the limit

$$\lim_{t \rightarrow 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists for each $x, y \in E$, and E is said to have a uniformly Gâteaux differentiable norm if for each $y \in S$, the limit is attained uniformly for $x \in S$.

Recall that a Banach space E is said to be strictly convex if

$$\|x\| = \|y\| = 1, x \neq y \text{ implies } \frac{\|x + y\|}{2} < 1.$$

Let C be a nonempty closed convex subset of Banach space E . Let $\{T_i\}_{i=1}^\infty$ be infinite mappings of C into itself and let $\alpha_1, \alpha_2, \dots$ be real numbers such that $0 \leq \alpha_i \leq 1$ for every $i \in N$. For any $n \in N$, define a mapping W_n of C into itself as follows:

$$\begin{aligned}
 &U_{n,n+1} = I, \\
 &U_{n,n} = \alpha_n T_n U_{n,n+1} + (1 - \alpha_n)I, \\
 &U_{n,n-1} = \alpha_{n-1} T_{n-1} U_{n,n} + (1 - \alpha_{n-1})I, \\
 &\quad \vdots \\
 (1) \quad &U_{n,k} = \alpha_k T_k U_{n,k+1} + (1 - \alpha_k)I, \\
 &U_{n,k-1} = \alpha_{k-1} T_{k-1} U_{n,k} + (1 - \alpha_{k-1})I, \\
 &\quad \vdots \\
 &U_{n,2} = \alpha_2 T_2 U_{n,3} + (1 - \alpha_2)I, \\
 &W_n = U_{n,1} = \alpha_1 T_1 U_{n,2} + (1 - \alpha_1)I.
 \end{aligned}$$

Such a mapping W_n is called the W -mapping generated by T_n, T_{n-1}, \dots, T_1 and $\alpha_n, \alpha_{n-1}, \dots, \alpha_1$; see [8, 5] for more details. We can find two important results in [8] concerning mappings W_n as follows.

Lemma 2.1 ([8, Lemma 3.2]). *Let C be a nonempty closed convex subset of a strictly convex Banach space E . Let T_1, T_2, \dots be nonexpansive mappings of C into itself such that $\bigcap_{i=1}^\infty F(T_i)$ is nonempty, and let $\alpha_1, \alpha_2, \dots$ be real numbers such that $0 < \alpha_i \leq b < 1$ for any $i \in N$. Then, for every $x \in C$ and $k \in N$, the limit $\lim_{n \rightarrow \infty} U_{n,k}x$ exists.*

Using Lemma 2.1, one can define mapping W of C into itself as follows:

$$Wx = \lim_{n \rightarrow \infty} W_n x = \lim_{n \rightarrow \infty} U_{n,1}x$$

for every $x \in C$. Such a W is called the W -mapping generated by T_1, T_2, \dots and $\alpha_1, \alpha_2, \dots$. Throughout this paper, we will assume that $0 < \alpha_i \leq b < 1$ for every $i \in N$.

Lemma 2.2 ([8, Lemma 3.3]). *Let C be a nonempty closed convex subset of a strictly convex Banach space E . Let T_1, T_2, \dots be nonexpansive mappings of C into itself such that $\bigcap_{i=1}^\infty F(T_i)$ is nonempty, and let $\alpha_1, \alpha_2, \dots$ be real numbers such that $0 < \alpha_i \leq b < 1$ for any $i \in N$. Then, $F(W) = \bigcap_{i=1}^\infty F(T_i)$.*

We will also make use of the following lemmas.

Lemma 2.3 ([6]). *Let E be a real reflexive and strictly convex Banach space with a uniformly Gâteaux differentiable norm. Suppose C is a nonempty closed convex subset of E . Suppose that $T : C \rightarrow C$ is a nonexpansive mapping with $F(T) \neq \emptyset$. Let $\{x_t\}$ is defined by $x_t = tu + (1 - t)Tx_t$ where $u \in C$ is a fixed point. Then as $t \rightarrow 0$, $\{x_t\}$ converges strongly to some fixed point of T .*

Lemma 2.4 ([1]). *Let E be a real Banach space. Then for all $x, y \in E$*

- (i) $\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle$ for all $j(x + y) \in J(x + y)$;
- (ii) $\|x + y\|^2 \geq \|x\|^2 + 2\langle y, j(x) \rangle$ for all $j(x) \in J(x)$.

Lemma 2.5 ([11]). *Let $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a Banach space X and let $\{\beta_n\}$ be a sequence in $[0, 1]$ with $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$. Suppose $x_{n+1} = (1 - \beta_n)y_n + \beta_n x_n$ for all integers $n \geq 0$ and $\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0$. Then, $\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0$.*

Lemma 2.6 ([16]). *Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that*

$$a_{n+1} \leq (1 - \gamma_n)a_n + \delta_n,$$

where $\{\gamma_n\}$ is a sequence in $(0, 1)$ and $\{\delta_n\}$ is a sequence such that

- (1) $\sum_{n=1}^{\infty} \gamma_n = \infty$;
- (2) $\limsup_{n \rightarrow \infty} \delta_n / \gamma_n \leq 0$ or $\sum_{n=1}^{\infty} |\delta_n| < \infty$.

Then $\lim_{n \rightarrow \infty} a_n = 0$.

Let μ be a continuous linear functional on l^∞ and $s = (a_0, a_1, \dots) \in l^\infty$. We write $\mu_n(a_n)$ instead of $\mu(s)$. We call μ a Banach limit if μ satisfies $\|\mu\| = \mu_n(1) = 1$ and $\mu_n(a_{n+r}) = \mu_n(a_n)$ for all $(a_0, a_1, \dots) \in l^\infty$. If μ is a Banach limit, then we have the following:

- (i) for all $n \geq 1$, $a_n \leq c_n$ implies $\mu_n(a_n) \leq \mu_n(c_n)$,
- (ii) $\mu_n(a_{n+r}) = \mu_n(a_n)$ for any fixed positive integer r ,
- (iii) $\liminf_{n \rightarrow \infty} a_n \leq \mu_n(a_n) \leq \limsup_{n \rightarrow \infty} a_n$ for all $(a_0, a_1, \dots) \in l^\infty$.

Remark 2.1. If $s = (a_0, a_1, \dots) \in l^\infty$ with $a_n \rightarrow a$, then $\mu(s) = \mu_n(a_n) = a$ for any Banach limit μ by (iii). For more details on Banach limits, we refer readers to [13].

Lemma 2.7 ([17]). *Let $a \in R$ be a real number and a sequence $\{a_n\} \in l^\infty$ satisfy the condition $\mu_n(a_n) \leq a$ for all Banach limit μ . If $\limsup_{n \rightarrow \infty} (a_{n+r} - a_n) \leq 0$, then $\limsup_{n \rightarrow \infty} a_n \leq a$.*

3. Main results

Now we state and prove the main results of this paper.

Theorem 3.1. *Let E be a strictly convex and reflexive Banach space with a uniformly Gâteaux differentiable norm, C be a nonempty closed convex subset of E , $\{T_n\}_{n=1}^\infty$ be infinite countable nonexpansive mappings from C to C such that the common fixed points set $F := \bigcap_{n=1}^\infty F(T_n) \neq \emptyset$. For fixed $u \in C$ and any given $x_0 \in C$, let $\{x_n\}$ be the iterative sequence defined by*

$$(2) \quad x_{n+1} = \beta x_n + (1 - \beta)W_n(\lambda_{n+1}u + (1 - \lambda_{n+1})x_n), \quad \forall n \geq 0,$$

where $\{\lambda_n\}$ is a sequence in $(0, 1)$, β is a constant in $(0, 1)$ and W_n is the W -mapping defined by (1). Suppose the following conditions are satisfied

- (C1) $\lim_{n \rightarrow \infty} \lambda_n = 0$;

$$(C2) \sum_{n=0}^{\infty} \lambda_n = \infty.$$

Then the sequence $\{x_n\}$ defined by (2) converges strongly to some common fixed point $p \in F$.

Proof. First, we claim that for all $n \geq 0$,

$$\|x_n - x^*\| \leq \max\{\|x_0 - x^*\|, \|u - x^*\|\}, \quad \forall x^* \in F.$$

Indeed, observe that the mappings $\{W_n\}$ are nonexpansive, then it follows from (2) that

$$\begin{aligned} \|x_{n+1} - x^*\| &= \|\beta(x_n - x^*) + (1 - \beta)[W_n(\lambda_{n+1}u + (1 - \lambda_{n+1})x_n) - x^*]\| \\ &\leq \beta\|x_n - x^*\| + (1 - \beta)\|W_n(\lambda_{n+1}u + (1 - \lambda_{n+1})x_n) - x^*\| \\ &\leq \beta\|x_n - x^*\| + (1 - \beta)[\lambda_{n+1}\|u - x^*\| + (1 - \lambda_{n+1})\|x_n - x^*\|] \\ &= [1 - (1 - \beta)\lambda_{n+1}]\|x_n - x^*\| + (1 - \beta)\lambda_{n+1}\|u - x^*\| \\ &\leq \max\{\|x_n - x^*\|, \|u - x^*\|\}. \end{aligned}$$

By induction,

$$\|x_n - x^*\| \leq \max\{\|x_0 - x^*\|, \|u - x^*\|\}, \quad \forall n \geq 0,$$

and hence $\{x_n\}$ is bounded which leads to the boundedness of $\{W_n x_n\}$.

Setting $y_n = \lambda_{n+1}u + (1 - \lambda_{n+1})x_n, \forall n \geq 0$. From (1), we have

$$\begin{aligned} &\|W_{n+1}y_{n+1} - W_n y_n\| \\ &\leq \|W_{n+1}y_{n+1} - W_{n+1}y_n\| + \|W_{n+1}y_n - W_n y_n\| \\ &\leq \|y_{n+1} - y_n\| + \|\alpha_1 T_1 U_{n+1,2} y_n - \alpha_1 T_1 U_{n,2} y_n\| \\ &\leq |\lambda_{n+2} - \lambda_{n+1}|(\|u\| + \|x_n\|) + (1 - \lambda_{n+2})\|x_{n+1} - x_n\| \\ &\quad + \alpha_1 \|U_{n+1,2} y_n - U_{n,2} y_n\| \\ &= |\lambda_{n+2} - \lambda_{n+1}|(\|u\| + \|x_n\|) + (1 - \lambda_{n+2})\|x_{n+1} - x_n\| \\ (3) \quad &+ \alpha_1 \|\alpha_2 T_2 U_{n+1,3} y_n - \alpha_2 T_2 U_{n,3} y_n\| \\ &\leq |\lambda_{n+2} - \lambda_{n+1}|(\|u\| + \|x_n\|) + (1 - \lambda_{n+2})\|x_{n+1} - x_n\| \\ &\quad + \alpha_1 \alpha_2 \|U_{n+1,3} y_n - U_{n,3} y_n\| \\ &\leq \dots \\ &\leq |\lambda_{n+2} - \lambda_{n+1}|(\|u\| + \|x_n\|) + (1 - \lambda_{n+2})\|x_{n+1} - x_n\| \\ &\quad + M \prod_{i=1}^n \alpha_i, \end{aligned}$$

where $M \geq 0$ is a constant such that $\|U_{n+1,n+1} y_n - U_{n,n+1} y_n\| \leq M$ for all $n \geq 0$.

Therefore, from (3), we obtain

$$\begin{aligned} & \|W_{n+1}y_{n+1} - W_n y_n\| - \|x_{n+1} - x_n\| \\ & \leq |\lambda_{n+2} - \lambda_{n+1}|(\|u\| + \|x_n\|) + M \prod_{i=1}^n \alpha_i, \end{aligned}$$

which implies that (noting that (C1) and $0 < \alpha_i \leq b < 1$ for all $i \in N$)

$$\limsup_{n \rightarrow \infty} (\|W_{n+1}y_{n+1} - W_n y_n\| - \|x_{n+1} - x_n\|) \leq 0.$$

Hence, by Lemma 2.5, we have

$$\lim_{n \rightarrow \infty} \|W_n y_n - x_n\| = 0.$$

Consequently,

$$(4) \quad \lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = \lim_{n \rightarrow \infty} (1 - \beta) \|W_n y_n - x_n\| = 0.$$

For each $k \in N$, let u_k be a unique element of C such that

$$(5) \quad u_k = \frac{1}{k}u + \left(1 - \frac{1}{k}\right)Wu_k.$$

From Lemma 2.2 and Lemma 2.3, we obtain that

$$u_k \rightarrow p \in F(W) = \bigcap_{n=1}^{\infty} F(T_n) \text{ as } k \rightarrow \infty.$$

For every $n, k \in N$, we have

$$\begin{aligned} & \|x_{n+1} - Wu_k\| \\ & = \|\beta(x_n - Wu_k) + (1 - \beta)(W_n y_n - Wu_k)\| \\ & \leq \beta\|x_n - Wu_k\| + (1 - \beta)\|W_n y_n - Wu_k\| \\ & \leq \beta\|x_n - Wu_k\| + (1 - \beta)\|W_n y_n - W_n u_k\| + (1 - \beta)\|W_n u_k - Wu_k\| \\ (6) \quad & \leq \beta\|x_n - Wu_k\| + (1 - \beta)\|y_n - u_k\| + (1 - \beta)\|W_n u_k - Wu_k\| \\ & \leq \beta\|x_n - Wu_k\| + (1 - \beta)\lambda_{n+1}\|u - u_k\| \\ & \quad + (1 - \beta)(1 - \lambda_{n+1})\|x_n - u_k\| + (1 - \beta)\|W_n u_k - Wu_k\| \\ & \leq \beta\|x_n - Wu_k\| + (1 - \beta)\|x_n - u_k\| + (1 - \beta)\lambda_{n+1}[\|u - u_k\| \\ & \quad + \|x_n - u_k\|] + (1 - \beta)\|W_n u_k - Wu_k\| \\ & = \beta\|x_n - Wu_k\| + (1 - \beta)\|x_n - u_k\| + \gamma_n, \end{aligned}$$

where $\gamma_n = (1 - \beta)\lambda_{n+1}[\|u - u_k\| + \|x_n - u_k\|] + (1 - \beta)\|W_n u_k - Wu_k\|$. Since $\lim_{n \rightarrow \infty} \lambda_{n+1} = 0$ and $\lim_{n \rightarrow \infty} W_n u_k = Wu_k$, then $\gamma_n \rightarrow 0$ as $n \rightarrow \infty$.

From (6), we obtain

$$\begin{aligned}
 \|x_{n+1} - Wu_k\|^2 &\leq (\beta\|x_n - Wu_k\| + (1 - \beta)\|x_n - u_k\|)^2 \\
 &\quad + \gamma_n[2(\beta\|x_n - Wu_k\| + (1 - \beta)\|x_n - u_k\|) + \gamma_n] \\
 &= \beta^2\|x_n - Wu_k\|^2 + (1 - \beta)^2\|x_n - u_k\|^2 \\
 (7) \quad &\quad + 2\beta(1 - \beta)\|x_n - Wu_k\|\|x_n - u_k\| + \sigma_n \\
 &\leq \beta^2\|x_n - Wu_k\|^2 + (1 - \beta)^2\|x_n - u_k\|^2 \\
 &\quad + \beta(1 - \beta)(\|x_n - Wu_k\|^2 + \|x_n - u_k\|^2) + \sigma_n \\
 &= \beta\|x_n - Wu_k\|^2 + (1 - \beta)\|x_n - u_k\|^2 + \sigma_n,
 \end{aligned}$$

where $\sigma_n = \gamma_n[2(\beta\|x_n - Wu_k\| + (1 - \beta)\|x_n - u_k\|) + \gamma_n] \rightarrow 0$ as $n \rightarrow \infty$.

For any Banach limit μ , from (7), we obtain

$$(8) \quad \mu_n\|x_n - Wu_k\|^2 = \mu_n\|x_{n+1} - Wu_k\|^2 \leq \mu_n\|x_n - u_k\|^2.$$

Noting that $x_n - u_k = \frac{1}{k}(x_n - u) + (1 - \frac{1}{k})(x_n - Wu_k)$, that is

$$(9) \quad (1 - \frac{1}{k})(x_n - Wu_k) = (x_n - u_k) - \frac{1}{k}(x_n - u).$$

It follows Lemma 2.4(ii) and (9) that

$$\begin{aligned}
 (10) \quad (1 - \frac{1}{k})^2\|x_n - Wu_k\|^2 &\geq \|x_n - u_k\|^2 - \frac{2}{k}\langle x_n - u, j(x_n - u_k) \rangle \\
 &= \|x_n - u_k\|^2 - \frac{2}{k}\langle x_n - u_k + u_k - u, j(x_n - u_k) \rangle \\
 &= (1 - \frac{2}{k})\|x_n - u_k\|^2 + \frac{2}{k}\langle u - u_k, j(x_n - u_k) \rangle.
 \end{aligned}$$

So by (8) and (10), we have

$$\begin{aligned}
 (1 - \frac{1}{k})^2\mu_n\|x_n - u_k\|^2 &\geq (1 - \frac{1}{k})^2\mu_n\|x_n - Wu_k\|^2 \\
 &\geq (1 - \frac{2}{k})\mu_n\|x_n - u_k\|^2 + \frac{2}{k}\mu_n\langle u - u_k, j(x_n - u_k) \rangle,
 \end{aligned}$$

and hence

$$\frac{1}{k^2}\mu_n\|x_n - u_k\|^2 \geq \frac{2}{k}\mu_n\langle u - u_k, j(x_n - u_k) \rangle.$$

This implies

$$\frac{1}{2k}\mu_n\|x_n - u_k\|^2 \geq \mu_n\langle u - u_k, j(x_n - u_k) \rangle.$$

Since $u_k \rightarrow p \in F(W) = \bigcap_{n=1}^{\infty} F(T_n)$ as $k \rightarrow \infty$, from the uniformly Gâteaux differentiability of the norm of E and the above inequality, we get

$$(11) \quad \mu_n\langle u - p, j(x_n - p) \rangle \leq 0.$$

On the other hand, from (4), we have

$$(12) \quad \lim_{n \rightarrow \infty} |\langle u - p, j(x_{n+1} - p) \rangle - \langle u - p, j(x_n - p) \rangle| = 0.$$

Hence it follows from Lemma 2.7, (11), and (12) that

$$\limsup_{n \rightarrow \infty} \langle u - p, j(x_n - p) \rangle \leq 0,$$

this together with $\lim_{n \rightarrow \infty} \|y_n - x_n\| = \lim_{n \rightarrow \infty} \lambda_{n+1} \|u - x_n\| = 0$ imply that

$$(13) \quad \limsup_{n \rightarrow \infty} \langle u - p, j(y_n - p) \rangle \leq 0.$$

Finally we prove that $x_n \rightarrow p$ as $n \rightarrow \infty$. From Lemma 2.4(i) and (2), we have

$$(14) \quad \begin{aligned} & \|x_{n+1} - p\|^2 \\ &= \|\beta(x_n - p) + (1 - \beta)(W_n y_n - p)\|^2 \\ &\leq [\beta\|x_n - p\| + (1 - \beta)\|y_n - p\|]^2 \\ &\leq \beta^2\|(x_n - p)\|^2 + (1 - \beta)^2\|y_n - p\|^2 + 2\beta(1 - \beta)\|x_n - p\|\|y_n - p\| \\ &\leq \beta^2\|(x_n - p)\|^2 + (1 - \beta)^2\|y_n - p\|^2 + \beta(1 - \beta)(\|x_n - p\|^2 + \|y_n - p\|^2) \\ &= \beta\|x_n - p\|^2 + (1 - \beta)\|y_n - p\|^2 \\ &\leq \beta\|x_n - p\|^2 + (1 - \beta)[(1 - \lambda_{n+1})^2\|x_n - p\|^2 + 2\lambda_{n+1}\langle u - p, j(y_n - p) \rangle] \\ &= [1 - 2(1 - \beta)\lambda_{n+1}]\|x_n - p\|^2 + (1 - \beta)\lambda_{n+1}^2\|x_n - p\|^2 \\ &\quad + 2(1 - \beta)\lambda_{n+1}\langle u - p, j(y_n - p) \rangle \\ &= [1 - 2(1 - \beta)\lambda_{n+1}]\|x_n - p\|^2 + 2(1 - \beta)\lambda_{n+1}\left\{\frac{1}{2}\lambda_{n+1}\|x_n - p\| \right. \\ &\quad \left. + \langle u - p, j(y_n - p) \rangle\right\} \\ &= (1 - a_n)\|x_n - p\| + a_n b_n, \end{aligned}$$

where $a_n = 2(1 - \beta)\lambda_{n+1}$ and $b_n = \frac{1}{2}\lambda_{n+1}\|x_n - p\| + \langle u - p, j(y_n - p) \rangle$. We note that $\{\|x_n - p\|\}$ are bounded sequences and $\lim_{n \rightarrow \infty} \lambda_{n+1} = 0$. It is easily seen that $\sum_{n=0}^{\infty} a_n = \infty$ and $\limsup_{n \rightarrow \infty} b_n \leq 0$. Hence the conditions in Lemma 2.6 are satisfied and so we can conclude from (14) that $x_n \rightarrow p$ as $n \rightarrow \infty$. This completes the proof. \square

Next, we give a strong convergence theorem which is connected with the problem of image recovery in a Banach space setting. The proof is obvious from Theorem 3.1 and hence will be omitted.

Theorem 3.2. *Let E be a strictly convex and reflexive Banach space with a uniformly Gâteaux differentiable norm and C be a nonempty closed convex subset of E . Let $\{C_n\}_{n=1}^{\infty}$ be a sequence of nonexpansive retracts of C such that $\bigcap_{n=1}^{\infty} C_n$ is nonempty. Let W_n be the W -mapping generated by P_n, P_{n-1}, \dots, P_1 and $\alpha_n, \alpha_{n-1}, \dots, \alpha_1$, where P_k is a nonexpansive retraction of C onto C_k . For fixed $u \in C$ and any given $x_0 \in C$, let $\{x_n\}$ be the iterative sequence defined by*

$$(15) \quad x_{n+1} = \beta x_n + (1 - \beta)W_n(\lambda_{n+1}u + (1 - \lambda_{n+1})x_n), \quad \forall n \geq 0,$$

where $\{\lambda_n\}$ is a sequence in $(0, 1)$, β is a constant in $(0, 1)$. Suppose the following conditions are satisfied

- (C1) $\lim_{n \rightarrow \infty} \lambda_n = 0$;
 (C2) $\sum_{n=0}^{\infty} \lambda_n = \infty$.

Then the sequence $\{x_n\}$ defined by (15) converges strongly to $x^* \in \bigcap_{n=1}^{\infty} C_n$.

Remark 3.1. (i) We note that the authors in [2, 6, 7, 9, 10] have imposed some additional assumptions on parameters $\{\lambda_{n+1}\}$ or mappings $\{T_n\}$ as follows:

- (A1) $\sum_{n=1}^{\infty} |\lambda_{n+N} - \lambda_n| < \infty$;
 (A2) $\lim_{n \rightarrow \infty} (\lambda_{n+N} - \lambda_n) / \lambda_{n+N} = 0$ or equivalently, $\lim_{n \rightarrow \infty} \lambda_n / \lambda_{n+N} = 1$;
 (A3) $\lim_{n \rightarrow \infty} \sup_{x \in C} \|T(T_n x) - T_n x\| = 0$;
 (A4) $\lim_{n \rightarrow \infty} \sup_{x \in C} \|T_m(T_n x) - T_n x\| = 0$.

(ii) The advantages of these results in this paper are that less restrictions on the parameters $\{\lambda_n\}$ are imposed.

References

- [1] S. S. Chang, *Some problems and results in the study of nonlinear analysis*, *Nonlinear Anal.* **30** (1997), no. 7, 4197–4208.
- [2] ———, *Viscosity approximation methods for a finite family of nonexpansive mappings in Banach spaces*, *J. Math. Anal. Appl.* **323** (2006), no. 2, 1402–1416.
- [3] G. Das and J. P. Debata, *Fixed points of quasinonexpansive mappings*, *Indian J. Pure Appl. Math.* **17** (1986), no. 11, 1263–1269.
- [4] S. Kitahara and W. Takahashi, *Image recovery by convex combinations of sunny nonexpansive retractions*, *Topol. Methods Nonlinear Anal.* **2** (1993), no. 2, 333–342.
- [5] P. Kuhfittig, *Common fixed points of nonexpansive mappings by iteration*, *Pacific J. Math.* **97** (1981), no. 1, 137–139.
- [6] C. H. Morales and J. S. Jung, *Convergence of paths for pseudocontractive mappings in Banach spaces*, *Proc. Amer. Math. Soc.* **128** (2000), no. 11, 3411–3419.
- [7] J. G. O'Hara, P. Pillay, and H. K. Xu, *Iterative approaches to convex feasibility problems in Banach spaces*, *Nonlinear Anal.* **64** (2006), no. 9, 2022–2042.
- [8] K. Shimoji and W. Takahashi, *Strong convergence to common fixed points of infinite nonexpansive mappings and applications*, *Taiwanese J. Math.* **5** (2001), no. 2, 387–404.
- [9] Y. Song and R. Chen, *Iterative approximation to common fixed points of nonexpansive mapping sequences in reflexive Banach spaces*, *Nonlinear Anal.* **66** (2007), no. 3, 591–603.
- [10] ———, *Strong convergence theorems on an iterative method for a family of finite nonexpansive mappings*, *Appl. Math. Comput.* **180** (2006), no. 1, 275–287.
- [11] T. Suzuki, *Strong convergence of Krasnoselskii and Mann's type sequences for one-parameter nonexpansive semigroups without Bochner integrals*, *J. Math. Anal. Appl.* **305** (2005), no. 1, 227–239.
- [12] W. Takahashi, *Fixed point theorems and nonlinear ergodic theorems for nonlinear semigroups and their applications*, *Proceedings of the Second World Congress of Nonlinear Analysts, Part 2* (Athens, 1996). *Nonlinear Anal.* **30** (1997), no. 2, 1283–1293.
- [13] ———, *Nonlinear Functional Analysis*, Kindai-kagakusha, Tokyo, 1988.
- [14] W. Takahashi and K. Shimoji, *Convergence theorems for nonexpansive mappings and feasibility problems*, *Math. Comput. Modelling* **32** (2000), no. 11–13, 1463–1471.
- [15] W. Takahashi and T. Tamura, *Limit theorems of operators by convex combinations of nonexpansive retractions in Banach spaces*, *J. Approx. Theory* **91** (1997), no. 3, 386–397.

- [16] H. K. Xu, *An iterative approach to quadratic optimization*, J. Optim. Theory Appl. **116** (2003), no. 3, 659–678.
- [17] H. Y. Zhou, L. Wei, and Y. J. Cho, *Strong convergence theorems on an iterative method for a family of finite nonexpansive mappings in reflexive Banach spaces*, Appl. Math. Comput. **173** (2006), no. 1, 196–212.

YONGHONG YAO
DEPARTMENT OF MATHEMATICS
TIANJIN POLYTECHNIC UNIVERSITY
TIANJIN 300160, CHINA
E-mail address: `yuyanrong@tjpu.edu.cn`

YEONG-CHENG LIOU
DEPARTMENT OF INFORMATION MANAGEMENT
CHENG SHIU UNIVERSITY
KAOHSIUNG 833, TAIWAN
E-mail address: `simplex_liou@hotmail.com`